Board 1 4 1073

North Deals vy AQ52
None Vul ¢ 2
* AKJ65
4 62 N & AJ4
v KJ964 w eI 10873
¢ J10854 ¢ 7
&4 =B . 010973
4 KQ985
Yy —
¢ AKQ963
® 82

North should open 1 # to which South responds 1 ¢ . North rebids 1 ¥, and South must now show shape and strength by bidding
24 . North may try 2NT, and South should persist with 4 & . Asthe cardslie, 6 # can be made North-South, but reaching the best
game of 4 4 should be a good score. West will probably lead J¢ . South can make 12 tricks by leading twice towardsthe KQ #.

Board 2 a5
East Dedls v 1095432
N-SVu s AQ4
+ 195
4 A109642 puromy 4 K83
vy AQ W E v KJ
¢ 176 + K10952
& 102 Sl . AQ7
s QJ7
v 876
¢ 83
* K8643

East should open 1 ¢ . West will respond 1 #, and East rebids 1 NT to show the balanced 16 count. West now knows that the
partnership has enough for game, and that East has at least 2 4, so bids 4 # . North will probably lead 10 . West should play off
the two top trumps, leaving the Q4 at large, and establish extratricksin the ¢ suit by leading towards the K¢ in dummy.

Board 3 4 82
South Dedls v 1076
E-W Vul + 76
& A98764
4973 mm * J106
v 33 W v Qo842
¢ AJA2 + KQ8
+KQ103 S . 2
4+ AKQ54
v AK5
+ 10953
&5

South opens 1 4 ; North has nothing to say with just 4 points, and that may end the auction. South has an easy 8 tricks (5 ¢, AKY
and A#), but can try for a9th by ruffing a ¢ in the dummy. East-West can prevent this by |eading trumps whenever they can.



Board 4

West Deals
Both Vul
& A108
vy KQ
¢ 972
& KQJ72

& J973
vy AJ7
¢+ KQS8
& A85
& Q642

v 108532

¢ A106

& 10

West has a balance 15 count, so opens 1 #. East makes the straightforward response of 1 # , and West rebids 1 NT. East simply
raises thisto 3NT, knowing that the partnership has at least 30 and at most 32 points. North will probably lead alow ¢ , showing
an honour in the suit. After South takesthe A ¢ and continues the suit, West should make 10 tricksby way of 1 #,3v, 14 and

54,

Board 5

North Deals

N-Svul
4 Q1093
vy AJ73
¢ AK103
& J

& A4
v 984
¢+ QJ5
& K9852

I\
W =
S

s KJ7
v Q1065
+ 987
& AQ7

4 8652
v K2
¢ 642
& 10643

Neither North nor East has an opening bid, so South will open 1 NT and likely play there. The fate of the hand depends on which
4-card major West chooses to lead; a# lead immediately gives declarer 3 tricks in that suit, whereasa ¥ |lead gives the defence a
head start. Declarer has just 5 top tricks, and will probably try for 2 more in the club suit - unlucky on the bad break! Could be a

range of results on this hand.

Board 6

East Dedls

E-W Vul
4 Q10
v AJ98
¢ 963
® Q986

4 A95
v 106
¢ KJB842
& KJ4

I\
W =
S

4 7432
vy Q75
¢+ AQI10
& A52

& KJ86
v K432
¢ 75

& 1073

East will pass, and South will open 1 NT on the balanced 12 count. With 12 points North should invite to game by bidding 2 NT,
and South will pass. West should lead alow ¥, and East-West can take the first 4 tricks in that suit. South has 8 top tricks (1 #,
54 and two #), and may try for one more by finessing in # - thistime it works!



Board 7

South Deals

Both Vul
o AB876
vy KJ876
¢+ K
& 652

& K52

v A9542
¢ 1098

& 97

I\
W =
S

4 03

v Ql03

¢ J75432
* KJ

4 QJ104

vy —

¢+ AQ6

«# AQ10843

South should not be tempted to open aweak 2 ¢ , and the suit is not good enough. West and North should pass; East will bid 1 #.
West responds 1 ¥, and now it depends on what East rebids; if he rebids 2 %, that will probably end the auction; if he chooses
14 instead (looking for major fit), West can raiseto 2 4, and now the 4 game may be found. Against 4 4, South will probably
lead a ¢ , the unbid suit, and East has an easy ride to 11 or 12 tricks by way of setting up the # suit for extratricks.

Board 8 4 KQS8
West Deals v K87
None Vul ¢ 965
& AQJ9
& 10 N 4 J976543
v J652 B v A93
¢ AQJ10874 ¢+ 3
& K & 42
o A2
vy Q104
¢ K2
& 1087653

West should open 1 ¢, and the hand is alittle too strong for 3 ¢ , and it is not good practice to open a preemptive bid in aminor
while holding a 4-card major. While North has a good hand, does not really have the shape for a take out double, does not have a
hold in opponents suit, and does not have a 5-card suit to overcall, so may choose to pass. East may passor bid 1 4, and it is not
easy to see where thiswill end up. Asthe cardslie, neither side has a game contract.

Board 9

North Deals

E-W Vul
& 1076
v J85
¢ Q63
& AQ84

s K95

vy 94

¢ AJ9842

& 13
N

Wi/ E ¢ K5
=B . K 10952

4 AQJ3

v AK1076

+ 107

476

North has a standard 2 ¢ opening, and South should somewhat reluctantly pass this. North should make at least 10 tricks, losing
just 2 and the K¢ , and may make 11 or even 12 if East-West do not find their # tricksin time; North can set up extratricksin

the v suit to dispose of his # losers.



Board 10

East Dedls

Both Vul
& K976
vy A8763
¢ Q2
& 84

s 43
v K52
¢ 87
& AKJ1097
s AJ82
N vy Q9
LS 4 J1064
S Yy
s Q105
v J104
¢+ AK953
+ Q3

East passes and South opens a standard 1 NT. Although North has only 11 points, should raiseto 3NT, and he has a very good
6-card suit to provide lots of tricks. West will probably lead a¥ , but this contract should make by way of 6 # tricks, the AK+

plus onetricksin the mgjors.

Board 11

South Deals

None Vul
& 96
vy QJ73
¢ 10973
& 653

s )87

v 10654
¢+ AQ865
& 10

I\
W =
S

& K10

vy AK982
¢ 2

& KJB74

a4 AQ5432
Yy —

+ KJ4

& AQ92

South opensaroutine 1 v, and North makes aroutineraiseto 2 v . The bad liein the opponents' ¥ suit means that South can

make no more than 8 or 9 tricks.

Board 12

West Deals

N-Svul
& AJI106
v 97
¢ QJ863
& J3

s Q532

v KJ42

‘ —_

£ Q9862
mm * K7

w e LR
+ 109754

S oY

s 984

v 1053

¢ AK?2

& K1074

Neither West nor North can open, so East bids 1 ¢ . Despite having a 5-card fit for his partner's ¢ , West should still explore for a
possible major fit by bidding 1 # . East has a slightly difficult rebid, with 2 ¢ being the best shot; this should end the bidding.
This contract should make 10 tricks, losing just thetwotop ¢ anda .



